MSQ

form (Gear Type)




MSQ Series

Rotary Plataform (Gear Type)

ing
10
1

Order Code

Stroke / Sensor Switch Model

- - *Sensor Switch Model
AEIRE gl ‘ (For Slide Installation)
I I 10

:
30

Blank: With hydralic DL-30
0 100 Cushion device >0 DL-07
70
30 200
100
50
200

Bore (mm)
Operation Fulid Air (Non-lub)
Operation Double Acting
. With angle

Max. Operation adjusting screw 10 Bar

With hydralic
Pressure Cushio)r/1 6 Bar
Min. Operation Pressure 1 Bar
Ambient and fluid temperature 0~60 °C
Cushion Rubber Buffer (Standard) / Hydralic Cushion device (Optional)

With angle

. adjusting screw 0.007J 0025)J 0.048 J 0.081J 0.24) 0.32) 0.56J

Function With hydralic

Cushion 0.039J 0.116J 0.294) 1.1) 1.6) 2.9)
Angle adjusting range 0~190°
Max. rotating angle 190°

With angle o o ° o
Steady rotating adjusting ccrew 0.2~1.0s/90 0.2~1.5s/90° | 0.2~2.0s/90° | 0.2~2.55/90
Time range With hydralic R R

9 Cushioh 0.2~0.7s/90 0.2~1.0s/90

Bore 215 218 @21 @25 g8 | @32 | @40
Port Size M5 x 0.8 Rc1/8

Max. operation pressure is subject to the Max. load of hydraulic Cushion device.



MSQ Series

Rotary Plataform (Gear Type)

(a) I l (b)
) — — =

Max. vertical load (N)

Max.honjontal load (N) @ ) Max. bending (N.m)
MSQ 10 78 74 78 2.4
MSQ 20 147 137 137 4.0
MSQ 30 196 197 363 5.3
MSQ 50 314 296 451 9.7
MSQ 70 333 296 476 12.0
MSQ 100 390 493 708 18.0
MSQ 200 543 740 1009 25.0

| enched per roumd
MSQB10 °Aboves 10.2
MSQB20 °Aboves 7.2
MSQB30 °Aboves 6.5
MSQB50 °Aboves 8.2

*In case of angle adjusting screw or hydraulic cushion twisting one circle.



MSQ Series

Rotary Plataform (Gear Type)
Overall Dimension

210, 20, 30, 50

8E Depth FFor 8 Hole)
4G De 8

J2-H Through Hole
MSQAB10/20/30R MSQAB50R ) Recessed Hole J
(Hydralic cushioning device) (Hydralic cushioning device)
TT
TT
| g
T E —
[
s sl
(Max.=RR) (Max.=RR)
N
DAARS EL
2BBNS o
ACChS -
NN §
| | | 2-QQ 1 | | |
L|||||||||||||||||;|||IIIIII||||I|||J/ o.0D De EE ‘Enlunuu trrrriuh > X
EE | J N
i [} .
I I I n)
[ 1 ]:'|
T __ﬁ\ 1
oP =
Rl Q 20 =1 §
(Max.=S)| N E

Model | A |B| c [D]
MSQB10 | 60 [27] 15 [2| M5x0.8 | 8 | M5x0.8 | 6.8 [11] 6.5 |3H9|3.5[32] 92 [15H9| 5 | 9.5 | 8.6 [17.7|47|34 |45 3 [13| 8 | 4
MSQB20 | 76 [34[205|2| Mex1 [10] Mex1 |8.6]|14|85 [aH9|45]4a3[117]17H9| 9 | 12 [10.6| 25 |54[37]6.5]25]17]10] 6
MSQB30 | 84 [37[ 23 [2| Mex1 [10| Mex1 |86 (14|85 [4H9|45|4a8|127(22H0| 9 | 12 [10.6] 25 [57]40(6.5] 3 [17]10[45
MSQB50 [100(50265]2 | M8 x 1.25 [12| mex1.25 [10.5]18[10.5[5H9| 5.5 55| 152|26H9|10]15.5| 14 [31.4] 66 |46|7.5] 3 [20]12] 5

Code of Hydralic

Cushion device
MSQB10 |46|45(20( M8x 125 (12| M8x 1 |50(45| 20 | 12| 4 |27.8]|15.5|34.5] 9 [13|M5x0.8(31.5(86 | M8x1 RBA0805-X692

MSQB20 [61(60|28| M10x15|15|M10x1|65|60 (27.5/14|5 (28.8| 16 | 51 | 10 |[12|M5x0.8(34.7|10.6| M10x 1 | RBA1006-X692
MSQB30 |[67|65|32(M10x1.5[15{M10x1|70|65( 29 |14|5| 32 |185| 50 |11.5{14| 1/8 |[34.7(10.6] M10x 1 | RBA1006-X692
MSQB50 |77|75|35(M12x1.75(18|{M14x1.5|80|75| 38 | 19| 6 |37.5| 22 | 63 |145[15| 1/8 |[51.7| 14 |M14x 15| RBA1411-X692

Max. measurement is at Max. rotation angle (190°)



MSQ Series

Rotary Plataform (Gear Type)
Overall Dimension

@70

n
@90n9
o2 2-M12x1.75 [ZEERe) é 0
75 2-Rc1/8 Depth 18 a
/Port . <
T =) 2-M5x0.8(Screw) =t I
n — S Port 1 o
of o
{ E 0 o
|
! SRR
1) 8 A6 hraugh Hole) g
< a2 8 17 ZeeHs
79 1z g‘
84 (Max.=34.2) 170
S0 é
2 RBA2015 x821 39, 2
Hydralic cushioning device
2-M20x1.5 110 Eﬂ !
‘Aarge Adusting NG ul
19O =
= 2
MSQB70R
(Hydralic cushioning device) é

?100

4-MBx1.25 Depth10
2-310 4 Through Hole
17 5Recessed HOe10.5

2-M20x1.5 /

Aerge Adusro g, ©
21008 §
102 2M12x1.75 et 8 2989 E o
85 2-Rc1/8 2-M5x0 B¢ ) b
- E&Iﬁ == :
|0 ! ] e N
n ! Q - =
- 0 Q[C S’I @
) 3o
S ERE
v roe)]| | o
o a2 8 a7 ‘Doare ‘§
50 je2 B
] | (Max. =34.3) 189
101 é
a8 2 E
2-ABA2015x821 | ——
\Hydralic cushioning device T g
q% ill 07 - é ]
8
Max. =55. 5!
MSQB100R
Fiydralic cushioning device
2 8-M12x1.75 Depth16.5
(For 8 Hole)
4-M12x1.75 Depth13
2-@14 2 Through Hole
220 Fecessed HoR12.5\
Qg
2-M27x1.5 150 S
Aenge Adusing Nt o
21189 §
—a2 @116n9 o
1083 _ | 2-Rc1/8 9 264 ©
|| /Pore 1 o
I + i 2MIBe 25 W=z g
n Q) I it a
7 looTe g 48
; & ik
N g |
| R [
10, 2-M5x0.8 Screw frrvough el || s
f [=6) Fore 8 [2a [Ze=nt] B
108 24| |
113 (Mex. =40.2) 240
119
0
@
54_, 2 §
2 ABAR725 X821 -
Hydralic cushioning device -
| o= © oF

MSQB200R
Hydralic cushioning device



